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Worksheet A: (Topic 3.11) Secant, Cosecant, and Cotangent  Name: 

 

1.  Let ( )
1

sec .
2

f x x
 

=  
 

 Which of the following is a vertical asymptote on the graph of ?f  

(A) 0x =   (B) 
4

x


=   (C) 
2

x


=   (D) x =  

 

 

2.  In the -plane,xy  the graph of which of the following functions has a vertical asymptote at ?
2

x


=  

(A) ( ) ( )cscf x x=             (B) ( ) ( )csc 2f x x=       (C)  ( ) sec
2

f x x
 

= − 
 

  (D) ( )
1

sec
2

f x x
 

=  
 

 

 

 

 

3.  In the -plane,xy  the graph of which of the following functions has a vertical asymptote at 2?x =  

(A) ( )
1

csc
2

f x x
 

=  
 

            (B) ( ) ( )csc 2f x x=       (C)  ( ) ( )secf x x=   (D) ( ) sec
4

f x x
 

=  
 

 

 

 

 

 

4.  Let ( ) ( )cot 2 .g x x=  Which of the following is a vertical asymptote on the graph of ?g  

(A) 
6

x


=   (B) 
4

x


=   (C) 
3

x


=   (D) 
2

x


=  

 

 

 

 

5.  Let ( ) ( )3sec 4 1h x x= + .  Which of the following statements about the graph of h  is correct? 

(A) The graph of h  has vertical asymptotes when ,  where  is an integer.
8 4

x k k
 

= +  

(B) The graph of h  has vertical asymptotes when ,  where  is an integer.
4 2

x k k
 

= +  

(C) The graph of h  has vertical asymptotes when ,  where  is an integer.
2 4

x k k
 

= +  

(D) The graph of h  has vertical asymptotes when 2 4 ,  where  is an integer.x k k = +  
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6. Let ( )
1

5sec .
2

h x x
 

=  
 

 Which of the following gives the range of ?h  

(A) (   ), 1 1,− −     (B) (   ), 5 5,− −     (C) (   ), 2 2,− −     (D)  5, 5−  

 

 

 

 

7. Let ( ) ( )4csc 2 1.k x x= −  Which of the following gives the range of ?k  

(A) (   ), 1 1,− −             (B) (   ), 4 4,− −        (C) (   ), 5 3,− −    (D) 
1 1

, ,
2 2

   
− −    
   

 

 

 

8. Let ( ) ( )2sec 5f x x= −  and ( ) 1.g x = −  In the -plane,xy  what are the -coordinatesx  of the points of intersection 

of the graphs of  and f g  for 0 2 ?x    

 

 

 

9. Let ( ) 2 3csch x x= −  and ( ) 5.k x =  In the -plane,xy  what are the -coordinatesx  of the points of intersection of 

the graphs of  and h k  for 0 2 ?x    

 

 

 

10. Let ( ) 23csc 2m x x= −  and ( ) 2.p x =  In the -plane,xy  what are the -coordinatesx  of the points of intersection 

of the graphs of  and m p  for 0 2 ?x    

 

 

 

 

11. Let ( ) ( )2 3.1cot 0.3 5f x x= + + .  In the -plane,xy  what are the -coordinatesx  of the points of where 

( ) 6f x = −  for 0 2 ?x    

 

 

 

 


